



Research Paper

On Pairs of non-abelian finite p -groups

Elaheh Khamseh*

Department of Mathematics, Shahr-e-Qods Branch, Islamic Azad University Tehran, Iran

Academic Editor: Herish O. Abdullah

Abstract. Let (N, G) be a pair of non-abelian finite p -groups and K be a normal subgroup of G such that $G \cong N \times K$. Moreover, let $|N| = p^n$ and $|N'| = p^k$, where K is a d -generator group of order p^m . Then $|\mathcal{M}(N, G)| = p^{\frac{1}{2}(n-1)(n-2)+1+(n-1)m-s'}$, where $\mathcal{M}(N, G)$ is the Schur multiplier of the pair (N, G) and s' is a non-negative integer. In this paper, the non-abelian pairs (N, G) for $s' = 0, 1, 2, 3$ are characterized.

Keywords. Pair of groups, schur multiplier, finite p -groups.

Mathematics Subject Classification (2010): 20E34, 20D15.

1 Introduction

Schur [21] defined the Schur multiplier of a group G . The Schur multiplier of a group G is as the abelian group $\mathcal{M}(G) = R \cap F' / [R, F]$ in which F/R is a free presentation of G , (see [8] for more information.) In 1956, Green [5] proved that $|\mathcal{M}(G)| \leq p^{\frac{1}{2}n(n-1)}$ for p -groups G of order p^n . Thus $|\mathcal{M}(G)| = p^{\frac{1}{2}n(n-1)-t(G)}$ for some $t(G) \geq 0$. In [1, 4, 6, 9, 12] all finite p -groups are characterized when $t(G) = 0, 1, 2, \dots, 7$.

Niroomand [14] improved the Green's bound and proved that for non abelian p -groups of order p^n , $|\mathcal{M}(G)| = p^{\frac{1}{2}(n-1)(n-2)+1-s(G)}$, for some $s(G) \geq 0$. The structure of non-abelian p -groups for $s(G) = 0, 1, 2, 3$ has been determined in [6, 14, 16, 17].

*Email address: elahehkhamseh@gmail.com

Received 24 October 2023 ; Revised 05 November 2023 ; Accepted 19 November 2023

First Publish Date: 01 December 2023

A pair of groups (N, G) is a group G with a normal subgroup N . In 1998, Ellis [2] introduced the Schur multiplier of the pair (N, G) to be the abelian group $\mathcal{M}(N, G)$ appears in a natural exact sequence

$$\begin{aligned} H_3(G) \rightarrow H_3\left(\frac{G}{N}\right) \rightarrow \mathcal{M}(N, G) \rightarrow \mathcal{M}(G) \rightarrow \mathcal{M}\left(\frac{G}{N}\right) \\ \rightarrow \frac{N}{[N, G]} \rightarrow (G)^{ab} \rightarrow \left(\frac{G}{N}\right)^{ab} \rightarrow 1, \end{aligned}$$

in which $H_3(-)$ is the third homology of a group with integer coefficients. If $N = G$, then $\mathcal{M}(G, G)$ is the usual Schur multiplier of G .

Let (N, G) be a pair of groups such that $G \cong N \times K$ with $|N| = p^n$ and $|K| = p^m$. Ellis [4] proved that

$$|\mathcal{M}(N, G)| \leq p^{\frac{1}{2}n(n+2m-1)}. \tag{1}$$

In this paper it is proved that

$$|\mathcal{M}(N, G)| \leq p^{\frac{1}{2}(n-1)(n-2)+1+(n-1)m}. \tag{2}$$

So, $|\mathcal{M}(N, G)| = p^{\frac{1}{2}(n-1)(n-2)+1+(n-1)m-s'}$, where s' is a non-negative integer. The upper bound (2) is better than the upper bound (1). Moreover, all non-abelian finite pairs (N, G) for $s' = 0, 1, 2, 3$ are characterized.

2 Preliminaries

In this section, some preliminary results are discussed which will be used in the main theorem. Throughout this paper the following notations are used:

Q_8 : quaternion group of order 8,

D_8 : dihedral group of order 8,

E_1 : extra special p -group of order p^3 and exponent p ,

E_2 : extra special p -group of order p^3 and exponent p^2 ($p \neq 2$),

$C_{p^n}^{(m)}$: direct product of m copies of the cyclic group of order p^n ,

G^{ab} : the abelianization of group G .

$M.N$: the central product of M and N .

James [13] classified all p -groups of order p^n for $n \leq 6$ up to isoclinism which are denoted by Φ_k . We use his notation in our paper.

Theorem 2.1. ([6,14,16,17]) *Let G be a non-abelian p -group of order p^n and $|\mathcal{M}(G)| = p^{\frac{1}{2}(n-1)(n-2)+1-s}$, then*

- (i) $s = 0$ if and only if $G \cong E_1 \times C_p^{(n-3)}$.

(ii) $s = 1$ if and only if $G \cong D_8 \times C_2^{(n-3)}$ or $G \cong C_p^{(4)} \rtimes C_p$ ($p \neq 2$).

(iii) $s = 2$ if and only if

- (1) $G \cong E(2) \times C_p^{(n-2m-2)} = E.Z(E) \times C_p^{(n-2m-2)}$, where E is an extra special p -group and $Z(E)$ is a cyclic group of order p^m ($m \geq 2$),
- (2) $G \cong E_2 \times C_p^{(n-3)}$,
- (3) $G \cong Q_8 \times C_2^{(n-3)}$,
- (4) $G \cong H \times C_p^{(n-2m-1)}$, where H is an extra special p -group of order p^{2m+1} ($m \geq 2$),
- (5) $G \cong \langle a, b \mid a^4 = b^4 = 1, [a, b, a] = [a, b, b] = 1, [a, b] = a^2b^2 \rangle$
- (6) $G \cong \langle a, b, c \mid a^2 = b^2 = c^2 = 1, abc = bca = cab \rangle$
- (7) $G \cong \langle a, b \mid a^{p^2} = 1, b^p = 1, [a, b, a] = [a, b, b] = 1 \rangle$
- (8) $G \cong C_p \times (C_p^{(4)} \rtimes C_p)$ ($p \neq 2$)
- (9) $G \cong \langle a, b \mid a^9 = b^3 = 1, [a, b, a] = 1, [a, b, b] = a^6, [a, b, b, b] = 1 \rangle$
- (10) $G \cong \langle a, b \mid a^p = 1, b^p = 1, [a, b, a] = [a, b, b, a] = [a, b, b, b] = 1 \rangle$ ($p \neq 3$)
- (11) $G \cong \phi_2(211)b$ (This group is omitted in [16], but $|\mathcal{M}(G)| = p^2$ and $n = 4$ so $s = 2$, see [7])

(iv) $s = 3$ if and only if

- (1) $G \cong \Phi_2(22) = \langle \alpha, \alpha_1, \alpha_2 \mid [\alpha_1, \alpha] = \alpha^p = \alpha_2, \alpha_1^{p^2} = \alpha_2^p = 1 \rangle$,
- (2) $G \cong \Phi_2(2111)c = \Phi_2(211)c \times C_p$ where $\Phi_2(211)c = \langle \alpha, \alpha_1, \alpha_2 \mid [\alpha_1, \alpha] = \alpha_2, \alpha^{p^2} = \alpha_1^p = \alpha_2^p = 1 \rangle$,
- (3) $G \cong \Phi_2(2111)d = E_1 \times C_{p^2}$,
- (4) $G \cong \Phi_3(211)a = \langle \alpha, \alpha_1, \alpha_2, \alpha_3 \mid [\alpha_1, \alpha] = \alpha_2, [\alpha_2, \alpha] = \alpha^p = \alpha_3, \alpha_1^{(p)} = \alpha_2^p = \alpha_3^p = 1 \rangle$,
- (5) $G \cong \Phi_3(211)b_r = \langle \alpha, \alpha_1, \alpha_2, \alpha_3 \mid [\alpha_1, \alpha] = \alpha_2, [\alpha_2, \alpha] = \alpha^p = \alpha_3, \alpha_1^{(p)} = \alpha_2^p = \alpha_3^p = 1 \rangle$,
- (6) $G \cong \Phi_3(1^5) = \Phi_3(1^4) \times C_p$ where $\Phi_3(1^4) = \langle \alpha, \alpha_1, \alpha_2, \alpha_3 \mid [\alpha_i, \alpha] = \alpha_{i+1}, \alpha^p = \alpha_i^{(p)} = \alpha_3^p = 1$ ($i = 1, 2$)
- (7) $G \cong \Phi_7(1^5) = \langle \alpha, \alpha_1, \alpha_2, \alpha_3, \beta \mid [\alpha_i, \alpha] = \alpha_{i+1}, [\alpha_1, \beta] = \alpha_3, \alpha^p = \alpha_1^{(p)} = \alpha_{i+1}^p = \beta^p = 1$ ($i = 1, 2$),
- (8) $G \cong \Phi_{12}(1^6) = E_1 \times E_1$,
- (9) $G \cong \Phi_{13}(1^6) = \langle \alpha, \alpha_1, \alpha_2, \alpha_3, \alpha_4, \beta_1, \beta_2 \mid [\alpha_i, \alpha_{i+1}] = \beta_i, [\alpha_2, \alpha_4] = \beta_2, \alpha_i^p = \alpha_3^p = \alpha_4^p = \beta_i^p = 1$ ($i = 1, 2$),
- (10) $G \cong \Phi_{15}(1^6) = \langle \alpha_1, \alpha_2, \alpha_3, \alpha_4, \beta_1, \beta_2 \mid [\alpha_i, \alpha_{i+1}] = \beta_i, [\alpha_3, \alpha_4] = \beta_1, [\alpha_2, \alpha_4] = \beta_2^g, \alpha_i^p = \alpha_3^p = \alpha_4^p = \beta_i^p = 1$ ($i = 1, 2$) where g is the smallest positive integer which is a primitive root modulo p ,
- (11) $G \cong (C_p^{(4)} \rtimes C_p) \times C_p^{(2)}$,
- (12) $G \cong \Phi_{11}(1^6) = \langle \alpha_1, \beta_1, \alpha_2, \beta_2, \alpha_3, \beta_3 \mid [\alpha_1, \alpha_2] = \beta_3, [\alpha_2, \alpha_3] = \beta_1, [\alpha_3, \alpha_1] = \beta_2, \alpha_i^{(p)} = \beta_i^p = 1$ ($i = 1, 2, 3$),
- (13) $G \cong C_2^{(4)} \rtimes C_2$,
- (14) $G \cong C_2 \times ((C_4 \times C_2) \rtimes C_2)$,
- (15) $G \cong D_{16}$ dihedral group of order 16,

$$(16) G \cong C_4 \times C_4.$$

3 Main Results

In this section, some upper bounds for the Schur multiplier of pairs of groups are obtained that are better than the upper bound of (1). Then they are used for characterizing the pair of non-abelian finite p -groups. The following results are used in our proofs.

Lemma 3.1. ([14], Main Theorem) *Let G be a non-abelian finite p -group of order p^n . If $|G'| = p^k$, then we have*

$$|\mathcal{M}(G)| \leq p^{\frac{1}{2}(n+k-2)(n-k-1)+1}.$$

In particular, $|\mathcal{M}(G)| \leq p^{\frac{1}{2}(n-1)(n-2)+1}$, and the equality holds in this last bound if and only if $G \cong E_1 \times Z$, where Z is an elementary abelian p -group.

Lemma 3.2. ([18], Corollary 1.2) *Let (N, G) be a pair of groups and K be the complement of N in G . Then*

$$|\mathcal{M}(N, G)| = |\mathcal{M}(N)| |N^{ab} \otimes K^{ab}|.$$

Lemma 3.3. ([15], Theorem 2.2) *Let G be a p -group of order p^n ($n \geq 4$) such that $|G'| = p^{(n-2)}$, then*

$$|\mathcal{M}(G)| \leq \begin{cases} \frac{|G'|}{2} & p = 2 \\ |G'| & \text{otherwise.} \end{cases}$$

Proposition 3.4. *Let (N, G) be a pair of groups and K be the complement of N in G . Also, let $|N| = p^n$, $|N'| = p^{n-2}$. We have*

$$|\mathcal{M}(N, G)| \leq \begin{cases} \frac{|N'|}{2} |N^{ab} \otimes K^{ab}| & p = 2 \\ |N'| |N^{ab} \otimes K^{ab}| & \text{otherwise.} \end{cases}$$

Proof. We can obtain the results using Lemmas 3.2 and 3.3. □

Lemma 3.5. ([15], Corollary 2.3) *Let G be a p -group of order p^n with derived subgroup of order p^k . Then*

$$|\mathcal{M}(G)| \leq p^{\frac{1}{2}n(n-1) - \frac{1}{2}k(k+1)},$$

equality holds if and only if G is elementary abelian or $G \cong E_1$.

Proposition 3.6. *Let (N, G) be a pair of non-abelian finite p -groups and K be a normal subgroup of G such that $G \cong N \times K$. Also, let $|N| = p^n$, $|N'| = p^k$, where K is a group of order p^m . Then*

$$|\mathcal{M}(N, G)| \leq p^{\frac{1}{2}n(n+2m-1) - \frac{1}{2}k(k+1+2m)}$$

and the equality holds if and only if $G \cong E_1 \times C_p^{(m)}$.

Proof. We obtain the result from Lemma 3.5 and Lemma 3.2.

$$\begin{aligned} |\mathcal{M}(N, G)| &= |\mathcal{M}(N)| |N^{ab} \otimes K^{ab}| \leq p^{\frac{1}{2}n(n-1) - \frac{1}{2}k(k+1)} \cdot p^{(n-k)m} \\ &= p^{\frac{1}{2}n(n+2m-1) - \frac{1}{2}k(k+1+2m)}. \end{aligned}$$

□

Proposition 3.7. *Let (N, G) be a pair of non-abelian finite p -groups and K be a normal subgroup of G such that $G \cong N \times K$. Also, let $|N| = p^n$, $|N'| = p^k$, where K is a d -generator group of order p^m . Then*

$$|\mathcal{M}(N, G)| \leq p^{\frac{1}{2}(n+k-2)(n-k-1)+1+(n-k)d}.$$

Proof. We have $|N^{ab} \otimes K^{ab}| \leq p^{(n-k)d}$ and by Lemma 3.1 $|\mathcal{M}(N)| \leq p^{\frac{1}{2}(n+k-2)(n-k-1)+1}$. Thus, by Lemma 3.2, we obtain

$$\begin{aligned} |\mathcal{M}(N, G)| &= |\mathcal{M}(N)| |N^{ab} \otimes K^{ab}| \\ &\leq p^{\frac{1}{2}(n+k-2)(n-k-1)+1+(n-k)d}. \end{aligned}$$

□

Theorem 3.8. *Under assumption of Proposition 3.7*

$$|\mathcal{M}(N, G)| = p^{\frac{1}{2}(n-1)(n-2)+1+(n-1)m-s'}.$$

Moreover, we have

(i) $s' = 0$ if and only if (N, G) is isomorphic to the following pair

$$(E_1 \times C_p^{(n-3)}, E_1 \times C_p^{(n-3)} \times C_p^{(m)}).$$

(ii) $s' = 1$ if and only if (N, G) is isomorphic the following pair

$$(D_8 \times C_2^{(n-3)}, D_8 \times C_2^{(n-3)} \times C_2^{(m)}).$$

(iii) $s' = 2$ if and only if (N, G) is isomorphic to one of the following pairs:

- (1) $(E_1, E_1 \times K)$ where K is a group with $m = d + 1$,
- (2) $(E(2) \times C_p^{(n-6)}, E(2) \times C_p^{(n-6)} \times C_p^{(m)})$,
- (3) $(E_2 \times C_p^{(n-3)}, E_2 \times C_p^{(n-3)} \times C_p^{(m)})$,
- (4) $(Q_8 \times C_2^{(n-3)}, Q_8 \times C_2^{(n-3)} \times C_2^{(m)})$,
- (5) $(H \times C_p^{(n-2l-2)}, H \times C_p^{(n-2l-2)} \times C_p^{(m)})$, where H is an extra special p -group of order p^{2l-1} , $(l \geq 2)$,
- (6) $(\langle a, b \mid a^4 = b^4 = 1, [a, b, a] = [a, b, b] = 1, [a, b] = a^2 b^2 \rangle, \langle a, b \mid a^4 = b^4 = 1, [a, b, a] = [a, b, b] = 1, [a, b] = a^2 b^2 \rangle \times C_p^{(m)})$,

- (7) $(\langle a, b, c \mid a^2 = b^2 = c^2 = 1, abc = bca = cab \rangle, \langle a, b, c \mid a^2 = b^2 = c^2 = 1, abc = bca = cab \rangle \times C_p^{(m)})$,
- (8) $(\langle a, b \mid a^{p^2} = 1, b^p = 1, [a, b, a] = [a, b, b] = 1 \rangle, \langle a, b \mid a^{p^2} = 1, b^p = 1, [a, b, a] = [a, b, b] = 1 \rangle \times C_p^{(m)})$,
- (9) $(\phi_2(211)b, \phi_2(211)b \times C_p)$.

(iv) $s' = 3$ if and only if (N, G) is isomorphic to one of the following pairs:

- (1) $(D_8, D_8 \times K)$, where K is a group with $m = d + 1$,
- (2) $((C_p^{(4)} \times C_p) \times C_p^{(2)}, (C_p^{(4)} \times C_p) \times C_p^{(2)})$
- (3) $(\langle a, b \mid a^9 = b^3 = 1, [a, b, a] = 1, [a, b, b] = a^6, [a, b, b, b] = 1 \rangle, \langle a, b \mid a^9 = b^3 = 1, [a, b, a] = 1, [a, b, b] = a^6, [a, b, b, b] = 1 \rangle)$,
- (4) $(\langle a, b \mid a^9 = b^3 = 1, [a, b, a] = 1, [a, b, b] = a^6, [a, b, b, b] = 1 \rangle, \langle a, b \mid a^9 = b^3 = 1, [a, b, a] = 1, [a, b, b] = a^6, [a, b, b, b] = 1 \rangle \times C_p)$,
- (5) $(\langle a, b \mid a^p = 1, b^p = 1, [a, b, a] = [a, b, b, a] = [a, b, b, b] = 1 \rangle, \langle a, b \mid a^p = 1, b^p = 1, [a, b, a] = [a, b, b, a] = [a, b, b, b] = 1 \rangle)$
- (6) $(\langle a, b \mid a^p = 1, b^p = 1, [a, b, a] = [a, b, b, a] = [a, b, b, b] = 1 \rangle, \langle a, b \mid a^p = 1, b^p = 1, [a, b, a] = [a, b, b, a] = [a, b, b, b] = 1 \rangle \times C_p)$,
- (7) $(\phi_2(22), \phi_2(22) \times C_p^{(m)})$,
- (8) $(\phi_3(211)a, \phi_3(211)a)$,
- (9) $(\phi_3(211)b_r, \phi_3(211)b_r)$,
- (10) $(\phi_2(2111)c, \phi_2(2111)c)$,
- (11) $(\phi_2(2111)d, \phi_2(2111)d)$,
- (12) $(\phi_3(1^5), \phi_3(1^5))$,
- (13) $(\phi_7(1^5), \phi_7(1^5))$,
- (14) $(\phi_{12}(1^6), \phi_{12}(1^6))$,
- (15) $(\phi_{13}(1^6), \phi_{13}(1^6))$,
- (16) $(\phi_{15}(1^6), \phi_{15}(1^6))$,
- (17) $(\phi_{11}(1^6), \phi_{11}(1^6))$,
- (18) (D_{16}, D_{16}) ,
- (19) $(C_4 \times C_4, C_4 \times C_4)$,
- (20) $(C_2^{(4)} \times C_2, C_2^{(4)} \times C_2)$,
- (21) $(C_2 \times ((C_4 \times C_2) \times C_2), C_2 \times ((C_4 \times C_2) \times C_2))$.

Proof. By Lemmas 3.1 and 3.2, we obtain

$$p^{\frac{1}{2}(n-1)(n-2)+1+(n-1)m-s'} = p^{\frac{1}{2}(n-1)(n-2)+1-s} \cdot |N^{ab} \otimes K^{ab}|$$

Thus,

$$p^{(n-1)m-s'} = p^{-s} \cdot |N^{ab} \otimes K^{ab}|$$

and so,

$$p^{(n-1)m} = p^{s'-s} \cdot |N^{ab} \otimes K^{ab}| \leq p^{s'-s} \cdot p^{(n-k)d} \leq p^{s'-s} \cdot p^{(n-1)m}$$

Therefore, $s' \geq s$.

Case $s' = 0$. Then $s = 0$, and by Theorem 2.1 $N \cong E_1 \times C_p^{(n-3)}$. We have $|N'| = p$ and so, $|N^{ab} \otimes K^{ab}| \leq p^{(n-1)d}$. Now, we have

$$p^{(n-1)m} \leq p^{(n-1)d} \leq p^{(n-1)m}$$

Thus, $d = m$ and $G \cong E_1 \times C_p^{(n-3)} \times C_p^{(m)}$.

Case $s' = 1$. If $s = 0$, then $N \cong E_1 \times C_p^{(n-3)}$. Let $N \cong E_1 \times C_p^{(n-3)}$, then

$$p^{(n-1)m} = p|N^{ab} \otimes K^{ab}| \leq p \cdot p^{(n-1)d} = p^{(n-1)d+1}.$$

Thus, $(n-1)m \leq (n-1)d + 1$ and so, $(n-1)(m-d) \leq 1$. This implies that $n = 1$ or 2 and $m = d$, thus $|\mathcal{M}(N)| = p^{1/2(n-1)(n-2)}$ which is impossible.

If $s = 1$, then $N \cong D_8 \times C_p^{(n-3)}$ or $N \cong C_p^{(4)} \times C_p$ ($p \neq 2$). Suppose that $N \cong D_8 \times C_2^{(n-3)}$, then $|N'| = p = 2$. Now, we have

$$p^{(n-1)m} = p^{s'-s} \cdot |N^{ab} \otimes K^{ab}| = |N^{ab} \otimes K^{ab}|.$$

Hence, $p^{(n-1)m} \leq p^{(n-1)d} \leq p^{(n-1)m}$, this implies that $d = m$ and so $G \cong D_8 \times C_2^{(n-3)} \times C_2^{(m)}$.

If $N \cong C_p^{(4)} \times C_p$ ($p \neq 2$), then $|N'| = p^2$ and so, $p^{(n-1)m} \leq p^{(n-2)d} \leq p^{(n-2)m}$, which is impossible.

Case $s' = 2$. Let $s = 0$, then $N \cong E_1 \times C_p^{(n-3)}$. Hence

$$p^{(n-1)m} = p^2 \cdot |N^{ab} \otimes K^{ab}| \leq p^{(n-1)d+2}.$$

Hence, $(n-1)m \leq (n-1)d + 2$ and so, $(n-1)(m-d) \leq 2$. Thus, $n = 3$ and $d = m$ or $m = d + 1$. If $m = d$, then $|\mathcal{M}(N)| = p^{1/2(n-1)(n-2)-1}$, which is contradiction by Theorem 2.1, else $G \cong E_1 \times K$, where $m = d + 1$.

If $s = 1$, then $N \cong D_8 \times C_2^{(n-3)}$ or $N \cong C_p^{(4)} \times C_p$ ($p \neq 2$). Let $N \cong D_8 \times C_2^{(n-3)}$, then $|N'| = 2$. Also, $2(m-d) \leq 1$. Thus, $m = d$, $K \cong C_2^{(m)}$, hence, $|\mathcal{M}(N)| = p^{1/2(n-1)(n-2)-1}$, which is contradiction using Theorem 2.1

Now, assume that $N \cong C_p^{(4)} \times C_p$ ($p \neq 2$), then $|N'| = p^2$ and we have

$$p^{(n-1)m} \leq p \cdot p^{(n-2)d} \leq p^{1+(n-2)m}$$

, so, $m \leq 1$ and $\mathcal{M}(N) = p^{1/2(n-1)(n-2)-1}$, which is contradiction by Theorem 2.1.

Let $s = 2$, then by Theorem 2.1, we have $N \cong E(2) \times C_p^{(n-2m-2)} = E.Z(E) \times C_p^{(n-2m-2)}$, where E is an extra special p -group and $Z(E)$ is a cyclic group of order p^m ($m \geq 2$)

$$\begin{aligned}
 N &\cong E_2 \times C_p^{(n-3)}, N \cong Q_8 \times C_2^{(n-3)}, \\
 N &\cong H \times C_p^{(n-2m-1)}, \text{ where } H \text{ is an extra special } p\text{-group of order } p^{2m+1} \ (m \geq 2), \\
 N &\cong \langle a, b \mid a^4 = b^4 = 1, [a, b, a] = [a, b, b] = 1, [a, b] = a^2b^2 \rangle, \\
 N &\cong \langle a, b, c \mid a^2 = b^2 = c^2 = 1, abc = bca = cab \rangle, \\
 N &\cong \langle a, b \mid a^{p^2} = 1, b^p = 1, [a, b, a] = [a, b, b] = 1 \rangle, \\
 N &\cong C_p \times (C_p^{(4)} \rtimes C_p) \ (p \neq 2), \\
 N &\cong \langle a, b \mid a^9 = b^3 = 1, [a, b, a] = 1, [a, b, b] = a^6, [a, b, b, b] = 1 \rangle \\
 N &\cong \langle a, b \mid a^p = 1, b^p = 1, [a, b, a] = [a, b, b, a] = [a, b, b, b] = 1 \rangle \\
 N &\cong \phi_2(211)b
 \end{aligned}$$

Similar to the previous cases we obtain $G \cong E(2) \times C_p^{(n-6)} \times C_p^{(m)}$, $G \cong E_2 \times C_p^{(n-3)} \times C_p^{(m)}$, $G \cong Q_8 \times C_2^{(n-3)} \times C_2^{(m)}$, $G \cong H \times C_p^{(n-2l-2)} \times C_p^{(m)}$ ($l \geq 2$), $G \cong \langle a, b \mid a^4 = b^4 = 1, [a, b, a] = [a, b, b] = 1, [a, b] = a^2b^2 \rangle \times C_p^{(m)}$, $G \cong \langle a, b, c \mid a^2 = b^2 = c^2 = 1, abc = bca = cab \rangle \times C_p^{(m)}$ or $G \cong \langle a, b \mid a^{p^2} = 1, b^p = 1, [a, b, a] = [a, b, b] = 1 \rangle \times C_p^{(m)}$.

Case $s' = 3$. If $s = 0$, then $N \cong E_1 \times C_p^{(n-3)}$ and we have

$$\begin{aligned}
 p^{(n-1)m} &= p^3 \cdot |N^{ab} \otimes K^{ab}| = p^3 \cdot |E_1 \times C_p^{(n-3)} \otimes K^{ab}| \\
 &\leq p^3 \cdot |E_1 \otimes K^{ab}| |C_p^{(n-3)} \otimes K^{ab}| \\
 &\leq p^3 \cdot p^{2d} \cdot p^{(n-3)d} = p^{3+(n-1)d}.
 \end{aligned}$$

Hence $(n - 1)(m - d) \leq 3$, in this case we obtain $n = 4$ and $m = d + 1$.

If $s = 1$, then $N \cong D_8 \times C_2^{(n-3)}$ or $C_p^{(4)} \rtimes C_p$, $p \neq 2$. Let $N \cong D_8 \times C_2^{(n-3)}$, then $p^{(n-1)m} \leq p^2 \cdot p^{(n-1)d}$, so $p^{(n-1)m} \leq p^{2+(n-1)d}$. Therefore $(m - d) \leq 1$, hence $m = d$ or $m = d + 1$. If $m = d$ then $|\mathcal{M}(N)| = p^{1/2(n-1)(n-2)-2}$, which is contradiction and there isn't any group in this case. Therefore $G \cong D_8 \times K$, where K is a group with $m = d + 1$.

Let $N \cong C_p^{(4)} \rtimes C_p$, $p \neq 2$, then $|N'| = p^2$ and we have $p^{(n-1)m} \leq p^2 \cdot p^{(n-2)d}$, so $p^{4m} \leq p^{2+3d}$, hence $m \leq 2$. Also $|\mathcal{M}(N, G)| = p^6 \leq p^{3d}$, hence $d \geq 2$ and $G \cong C_p^{(4)} \rtimes C_p \times C_{p^2}$ or $G \cong C_p^{(4)} \rtimes C_p \times C_p^{(2)}$, $p \neq 2$.

Now, suppose that $s = 2$, then N is isomorphism with one of 10 groups by Theorem 2.1. In 1 to 7 groups, $|N'| = p$, we have $p^{(n-1)m} = p \cdot |N^{ab} \otimes K^{ab}| \leq p \cdot p^{(n-1)d}$, hence $(n - 1)(m - d) \leq 1$, so $n = 1$ or $n = 2$, $m = d$ or $m = d + 1$. By the definition of these groups we can not have $n = 1$ or $n = 2$, since $n \neq 2$, $m \neq d + 1$, therefore $m = d$ and $K \cong C_p^{(m)}$.

In the first group $d(N) = n - 2l + 1$, so $p^{(n-1)m} \leq p \cdot p^{(n-2l+1)m}$, thus $-2m - 2lm \leq 1$. By the definition of N , $l \geq 2$, therefore $m = 0$ and $|\mathcal{M}(N)| = p^{1/2(n-1)(n-2)-2}$, which is contradiction using Theorem 2.1. So there isn't any pair of groups in this case.

Now suppose that $s = 3$, then N is an isomorphism with one of the 16 groups in the Theorem 2.1. In this case we argue by the $|N|$ and $|N'|$.

If $N \cong \Phi_2(22)$, then $|N| = p^4$ and $|N'| = p$, so $p^{3m} \leq p^{3d} \leq p^{3m}$. Hence $d = m$ and $G \cong \Phi_2(22) \times C_p^{(m)}$.

If $N \cong \Phi_3(211)a$ or $N \cong \Phi_3(211)b_r$, $|N| = p^4$, $|N'| = p^2$ and $d(N) = 2$, hence $p^{3m} \leq p^{2d} \leq$

p^{2m} , therefore $m = 0$ and $G \cong N$.

If $N \cong \Phi_2(2111)c$ or $N \cong \Phi_2(2111)d$, $|N| = p^5$, $|N'| = p$ and $d(N) = 3$, hence $p^{4m} \leq p^{4d} \leq p^{4m}$. therefore $d = m$, Also on the other hand $p^{4m} \leq p^{3m}$, so $m = 0$ and $G \cong N$ in both cases.

If $N \cong \Phi_3(1^5)$ or $N \cong \Phi_3(1^7)$, $|N| = p^5$, $|N'| = p^2$, and $p^{4m} \leq p^{3d} \leq p^{3m}$, therefore $m = 0$ and $G \cong N$ in both cases.

In other cases when $p \neq 2$ we have $|N| = p^6$, $|N'| = p^2$ or $|N'| = p^3$. We can show similar to the previous cases $m = 0$ and $G \cong N$.

If $p = 2$ and $N \cong D_{16}$ or $C_4 \rtimes C_4$, then $|N| = 2^4$ and $|N'| \leq 2^2$. Therefore $p^{3m} \leq p^{2d} \leq p^{2m}$, So $m = 0$ and $G \cong N$. Also if $N \cong C_2^{(4)} \rtimes C_2$ or $N \cong C_2 \times (C_4 \times C_2) \rtimes C_2$, then $|N| = 2^5$ and $|N'| = 2^2$, hence $p^{4m} \leq p^{3d} \leq p^{3m}$, hence $m = 0$ and $G \cong N$. \square

References

- [1] Ya. G. Berkovich, On the order of the commutator subgroups and the Schur multiplier of a finite p-group, *J. Algebra* 144 (1991) 269–272.
- [2] G. Ellis, The Schur multiplier of a pair of groups, *Appl. Categ. Structures* 6(3) (1998) 355-371.
- [3] G. Ellis and A. McDermott, Tensor products of prime-power groups, *J. Pure Appl. Algebra* 132(2) (1998) 119–128.
- [4] G. Ellis, On the Schur multiplier of p-groups, *Commun. Algebra* 27(9) (1999) 4173–4177.
- [5] J. A. Green, On the number of automorphisms of a finite group, *Proc. Royal Soc. A* 237 (1956) 574–581.
- [6] S. Hatui, Characterization of finite p-groups by their Schur multiplier, *Proc. Indian Acad. Sci. (Math. Sci.)* 128(49) (2018) 1–9.
- [7] Sumana Hatui, Vipul Kakkar, and Manoj K. Yadav, The Schur multiplier of p-groups of order p^5 , *J. Group Theory* 22(4) (2019) 647–687.
- [8] G. Karpilovsky, *The Schur Multiplier*, Clarendon Press, Oxford, 1987.
- [9] E. Khamseh, M. R. R. Moghaddam and F. Saeedi, Characterization of finite p-groups by their Schur multipliers, *J. Algebra and Appl.* 12(5) (2013) 1250035-1–1250035-9.
- [10] E. Khamseh and S. Alizadeh Niri, Classification of pair of nilpotent Lie algebras by their Schur multipliers, *Math. Rep.* 20(70) (2018) 177–185.
- [11] S.H. Jafari, Characterization of finite p-groups by the order of their Schur multipliers ($t = 6$), *Math. Rep. (Bucur.)* 18(68) (2016) 535–543.
- [12] S.H. Jafari, Characterization of finite p-groups by the order of their Schur multipliers ($t = 7$), *Bull. Iranian Math. Soc.* 43(7) (2017) 2567–2576.
- [13] R. James, The groups of order p^6 (p an odd prime), *Math. Comput.* 34 (1980) 613–637.
- [14] P. Niroomand, On the order of Schur multiplier of non abelian p-groups, *J. Algebra* 322 (2009) 4479–4482.
- [15] P. Niroomand, The Schur multiplier of p-groups with large derived subgroup, *Arch. Math.* 95 (2010) 101–103.
- [16] P. Niroomand, Classifying p-groups via their multiplier, *Math. Rep. (Bucur.)* 20(70) (2018) 279–284.
- [17] P. Niroomand, A note on the Schur multiplier of groups of prime power order, *Ricerche di Matematica* 61 (2012) 341-346.
- [18] H. Mohammadzadeh, A. Hokmabadi, B. Mashayekhy, On the order of the Schur multiplier of a pair of finite p-groups II, *Int. J. Group Theory* 2(3) (2013) 1–8.
- [19] M. R. R. Moghaddam, A. R. Salemkar, T. Karimi, Some Inequalities for the order of the Schur Multiplier of a Pair of Groups, *Comm. Algebra* 36 (2008) 2481-2486.
- [20] A. R. Salemkar, M. R. R. Moghaddam, F. Saeedi, The commutator subgroup and Schur multiplier of a pair of finite p-groups, *J. Aust. Math. Soc.* 81 (2006) 1–9.
- [21] I. Schur, Über die Darstellungen der endlichen Gruppen durch gebrochene Linear Substitutionen, *J. Reine Angew. Math.* 127 (1904) 20–50.

Citation: E. Khamseh , On Pairs of non-abelian finite p-groups, J. Disc. Math. Appl. 8(4) (2023) 239–248.

 <https://doi.org/10.22061/jdma.2024.10706.1068>



COPYRIGHTS

©2023 The author(s). This is an open-access article distributed under the terms of the Creative Commons Attribution (CC BY 4.0), which permits unrestricted use, distribution, and reproduction in any medium, as long as the original authors and source are cited. No permission is required from the authors or the publishers.